BCM SCHOOL LUDHIANA
ASSIGNMENT THREE-DIMENSIONAL GEOMETRY

The distance of a point P(a, b, ¢) from x-axis is

(A) VaZ? + 2 (BVaZ? + b? + ¢2) (C) VbZ + 2 (D)VaZ + b2

If a line makes angles a, B, y with the positive directions of the coordinate axes, then the
value of sin?a + sin?B + sin?y is .
(A)3 (B)2 (€)1 (D)4

3 | Aline makes angle a, B, y with x-axis, y-axis and z-axis respectively then
Cos 2a + cos 23 + cos 2y is equal to
(A) 2 (3)1 (C) 2(_) —1

4 Thehnes; = % = 5 and - y_f E__EB
(A)coincident (B)skew (C)parallel (D)interesting

> | the equation of a line parallel to x-axis and passing through the origin.
(A)7=11 (B)¥=0 (CO)F=1] (D)F¥=2k

6 | The x-coordinate of a point on the line joining the points P(2, 2, 1) and Q(5, 1, - 2) is
4 then z-coordinate is
(A)-1 (B)-2 (C)1 (D)2

7 | Aline makes Equal angles with co-ordinate axis. Direction cosines of this |IHE are
At trt= (B)-%- = -7 €335 O %%7Z

V3’ J‘ V3 3’ 3' 3 3'3"3 Vv3'V3'V3

8 | The coordinates of the foot of the perpendicular drawn from the point (2, 5, 7) on the x-axis are given by
(A)(2,0,0) (B)(0,0,7) (©)(2,0,2) (D)(2,3,3)

° | Show that the lines IZI = y;—E = i—E and 12 = y: E;E intersect. Also find
the point intersection.

19 Find the foot of perpendicular from the point (2,3,-8) to the line % = == ?
. Also, find the perpendicular distance from the given point to the line.

1 Find the distance of a point (2, 4, —1) from the line ‘1:5 = 2 ;’3 = :ﬁ

12 Flnd the image of the point (1, 6, 3) in the line
xX_y1. 22
1 2 3

13 | provethatthelinesx = py+ q,z=ry+sandx =p'y + q’,
zZ = T'y + s’ are perpendicularifpp' +1rr+1 =10

14

Check the coplanarity of the lines # =(-31 + j + 5k) +A(— 31 + j + 5k)
and 7 = (=1 + 2] + 5k) + pu(=i + 2j + 5k)
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